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General Instructions 

All the programs in this package are written in BASIC. That means 
you _can load each of them simply by typing CLOAD 1111~0*1 

1. Set up the Computer, Video Display and Cassette Recorder as 
described in the User's Manual for LEVEL I. 

2. Pick out the cassette for the game you want to play -
instructions for each game are contained later in this manual. 

3. Insert the cassette into your recorder. Be sure the tape is set to 
start at the beginning. Put the recorder in the Play mode, and set 
the volume to between 7 and 9. 

4. Now type: 
CLOADI ll'!l*!l'W!'"!l'!*!l'!;~j 

The tape will begin to load, and asterisks will flash in the upper 
left of the Display. When the program has been loaded, 
READY 
> 
will be displayed below the last line you typed in. If the message: 
WHAT? 
> 
is displayed instead, start over and try a slightly different volume 
setting. 

5. After loading the program, type 
RUN il¢•Ui;I 
Now the game will start. 

Note: If for some reason you want to interrupt the game and start 
over, simply press the BREAK key and type RUN O•~•Ot;I 
agam. 

© Copyright 1978 by Radio Shack, A Division of Tandy Corporation 



Hamurabi 

You are the exalted ruler of an ancient kingdom. Your objective is 
to build your kingdom from its present population of 100 
poverty-stricken peasants into a wealthy, thriving metropolis. 

Agriculture is the only industry, and as a wise ruler, you will decide 
how many acres to buy and sell at cur.rent rates (paying with 
bushels of wheat) . Of the acres you own, you must decide how 
many to plant. Last year 's harvest must also be distributed. Some 
must go to food for your subjects, some must go to seed for this 
year's planting, and some may be saved for future years. 

There are several obstacles you will encounter. The major one is 
your own ignorance. Since you just inherited the throne, you don't 
know how much food each peasant will need to keep from starving. 
You have no idea how many acres each peasant can plant or even 
how much wheat it takes to plant an acre. 

The Secretary of Commerce would not have the audacity to tell 
you about your mistakes: he will, however, tell you when your 
instructions are impossible to execute. You will have to learn by 
trial and error (or by looking at the program listing) what is best for 
the kingdom. 

To resign from your position, sell all your land. 
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MOVE ONE 

Random Tic-Tac-Toe 

Random Tic-Tac-Toe is an exciting and challenging variation of the 
old school-yard pastime, with the same objective of the regular 
game, but requiring the logic and foresight of chess. 

The squares of the Tic- Tac-Toe board are randomly numbered 1 
through 9, and the player and the computer take turns moving. On 
the first turn, it is exactly like the regular game, but on the second 
turn all pieces shift to the next sequential number. 

That is, if the Computer opened the game by placing an O in 
square 5 and you responded by putting an X in square 2, then the 
board would be re-drawn with an O in square 6 and an X in 
square 3. Continuing with this example, let's say the Computer 
next plays to square 8 and you put your mark in square 9, then the 
redrawn board will have O's in squares 7 and 9 and the X's will be 
in squares 4 and 1 (after 9 the sequence returns to 1). The first to 
get three in a row wins. 

When your turn comes during play, type the number of the desired 
square and press lj~jjl;j When the game is over, press 

O•~•OJ;I to play again. 

Sample Game: 

3 5 7 3 5 7 3 5 7 

xi cl x4 xi 03 
2 6 4 2 6 4 2 6 4 

cl xi x2 
8 9 I 8 9 I 8 9 

X2 x2 02 x3 x3 cl 02 
MOVETWO MOVE THREE MOVE FOUR 

TIE GAME 

3 5 

X2 
2 6 

x3 xi ) 

I 8 

02 03 ' MOVE FIVE 



Checkers 

This is a completely electronic version of checkers -the board and 
pieces are created and moved on the screen, and the Computer is 
your never-tiring opponent. 

CLOA D and R lJ N the program. The Computer will draw the 
board, and position the playing pieces. 

Note: After the board is drawn, you may find that the 
square-numbers and other messages become faint and hard to read. 
If this happens, adjust the Brightness Control on your Video 
Display until the messages and numbers are easy to read. When the 
game is over , you can set the Brightness back to normal. 

First the Computer will ask if you want to make the first move. 
Type YES or NO and press l@~n@;J 

Board and Pieces 
The game is played on the 32 dark, numbered squares. The solid 
pieces at the bottom of the "board .. are yours, and they move up, 
from higher to lower-numbered squares. 

The striped pieces are the Computer's: they move down from 
lower to higher numbered squares. 

- YOURS 

1111 COMPUTER'S 

When a piece is kinged, it becomes twice as "tall .. and then can 
move in either direction, up or down the board. 

Your move 
The computer will ask you FROM? in the solid square in the upper 
right of the board. Type in the number of the square you want to 
move away from, and press il~OH;J 
Then the Computer will ask you TO?. Type in the number of the 
square you wish to move to. If your move involves jumping one of 



Listings for Programs 

Star-Pilot 
00100 GOS 7(11,11} GOS. 680(1 

OH1f11,1 C,O'.C. 400(1 

0149(1 P A Hl., "I u, P A 54., "I" 

(1150(1 F' . A 2E., "I I", 

(11505 F' A 2:::t1., II 

(11511) P A. 3:4L "I 

£1151':, F'. A. 412, "I ]"; 

€1152£1 P A. 469., "I. I - + - I I II_; 

(11525 F'. Ft. 540., 11 I--- . --- I 11 _; 

01530 P A. 597., "I I"_; 

01535 PA. 664, 11
• - - - - - - -

l:11:,4l:1 P. A. 725., 11 J ------------------- J 11 ,i . P. A. 9\:16, 11 J 11 _; 

1:124(1€1 GOS. 40€10 

0252(1 P A. 146, " I 

0253:0 F' A. 274., "I 

£12540 P A. J46, " I 

02550 F' A. 412., ". 

025613 P A. 466, "I - + -

02570 F'. A. 540, 11 • 

02580 P. A. 602, " I----------- I "; 

02590 F' A. 658., " I 

(1260(1 P A. 725, " ". 
' 

I II; 

I"; 

02610 P A. 786., "I--------------------------- I "; 

0262(1 P A. 848," 

03:4€10 GOS. 4000 

II II 

' 
II II 

' 
I II_; 

03710 P.A. 79, "l"; :P. A.11J, "!"; :P. A.146, ". "; :P. A.174., "." 

03720 p A. 207} 11 1 

03725 P.A. 274, II 

03730 p A. 335., 11 I 

0373:5 P. A. 412, 11 

03740 P. A. 458, "l 

03745 P. A. 540, " 

03750 P. A. 59L "l 

03755 P.A. 658," 

03760 P.A. 719, "l 

". 
' 

- + -

1---------------1 

111; 

". ·' 

I II; 

I II; 

---------- I"; 

I II; 



06320 A(C )=A(C)+A(J) 

06330 N. J : N. 

06335 5=5-1 

06340 P.A. 900., "'r'OU HAVE"; f.:-L "ROCKETS LEFT. " 

06345 P A. 964, "THERE ARE"; 5; "ALIEN SHIPS LEFT. " 

06350 F. I=1T0400*E N. I 

06800 W=0:V=RND(14) ·H=RND(55) T=64*1/+H-J: At=" <-*->" 

06842 A(11)=415:A(12)=416 A(13)=417 A<14)=479 A(15)=481 

06846 A(16)=543:A(17)=544.A(18)=545 

f16860 I FS/2= I NT ( 5/2) At=" ' -0- 1 " 

06870 E=i+INT(S/5):D=J CLS.P~104 Q=44.5. (P,Q) 

06990 RET. 

07000 CLS P. "IN THIS SIMULATION, YOU WILL BE TR'r'ING TO DESTRO'r"' 

07100 P "A FLEET OF ENEM'r' SPACE SHIPS BEFORE RUt·INING OUT "OF" 

07110 P. "ROCKETS. WHEN A SHIP 15 EXACTL'r' IN THE CEtHEF: OF THE" 

07120 P "TARGET, FIRE AT IT BY PRESSING THE ' CLEAF: / KE~'- " 

07170 P "": P. "THE NUMBEF'.5 OF SHIPS AND F:OCKET'.', (JEPEND UPON" 

07180 P "'r'OUF: E:":F°EF:JEtK:E AS A FIGHTER PILOT At•I[) ','OUR CONFWENCE" 

07190 P. "IN YOUR OWN ABILITIES. Et·IEM',' SHIPS BECOME BETTEF: AT" 

07200 P "TAKING EVASIVE ACTION AS THE ~-IMULATJON PF:OGF:ESSES " 

(1721€1 P "" IN "Hm,J t1AN'r' 'r'EARS HAVE 'r'OU BEEN 'A FIGHTER PILOT"; F: 

07220 R=INT(ABS(R)) · IFf.'.)30R=J0 

07230 IN "HOW MAIN SHIPS CAN 'r'OU DESTRO'r'", 5 

07240 IFS(85=8 

137242 IFS>17S=17 

07245 5= INT( S+RND ( 5 i -J ) 

, (1726f1 R= I NT ( S* ( 2+ 35/ ( R+1t1)) :, 

07265 P '",'OU ARE TO DESTRO',"' ; 5; "AL Im 9l!F':':, " 

(17270 P. "'r'OU HAVE".; R; " ROCKETS AVAILABLE GOO[> LUCK " 

07280 F. 1=1TOS*R+ 30f1 J=RN()(J) N I 

07300 RET. 

(:18000 CLS P "','OU HAVE DESTRO','E[• THE LAST ENEM'r' ~:HJP'" 

08010 P "Cot~GF:ATULATI ON'.', 1 " 

08015 ','=1 N=2 

08020 IN. '.' DO 'r'OU WANT_ TO RUN ANOTHER ::- IMULAT JON", i;· 

(18030 IFRONG. Wf1 

0804(1 F' "OK. COME BACK AN',' T !ME. " 

08050 E 

08500 CLS F'. "'r'Ou ··F:E OUT OF ROCKETS AN[• THERE AF'E ~: 1 ILL 

0851€1 P " SHIPS LEFT. 'r'OU NEE[• t10F:E F·RACTICE. " G. :::015 



01360 J=l*K: IF.J<=[)T 1400 

01380 GOS. 9000:G. 1310 

01400 [)=[)-J :H=H+l 

01500 P AT576., " * 'rOU ARE BU','ING" ., L "AC:F.:ES. 

G:!.5'15 IFD€1T 1650 

0151(1 P AT640 ., " 

1:115::0 0=641:1 P ATC!, "" , 

01540 I " SELL HmJ r1RN',' ACRES"' I I= INT ( ABS (Lo) IF I =0T. 1570 

01551:1 !FI ( HT 1':,7iJ 

1)1570 P=l F· AT 640., " 

016(1(1 H=H- I [:o=DH::* I 

01650 O=P+64+640 

t1167(1 P ATC!., " 

1)1680 P AT0+64 ., " 

1)169(1 P ATO, ""' 

* ','OU ARE ::,ELLING" .• L "ACRES. 

1)17(1(1 I. " HOl,J MAN',' BUSHELS SHALL l·lE [:,!STRIE:UTE AS FOOD", I 

01710 I=INT(ABS(!)l 

01740 IF!(=DT. 1770 

~3175(1 GOS. 90tn3 Ci . 17(n:1 

[11770 [)=[)-! : C=A-INT0/20) · 8=0 IFC:>=(1T 1:::50 

01810 B=-C/2 C=O 

01850 O=F'*64+704 

1:11860 P AT0-64., " * ','OU ARE DISTRIE:UTHlG"' L "BUSHELS. 

'01870 P ATO., " 

(118t:0 P ATC!+64, " 

(11890 P ATC!, " " ; 

019(1(1 I. " HOl,J MAN',' ACRES SHALL 1,JE PLANT", I I= Ir,T( RBS ( Lo l 

0191€1 IFDHT. 1960 

01940 J=HIT-'. l/2). IF V=DT 1980 

01960 GOS. 9(11)(1 G. 19(1(1 

019t:(1 IFD1(1c••AT 19613 

01985 CLS 

019913 [)=[)-J . F=F.:l![:,,'. 5 ::o G=F•+<I E=!NT( (D+G)* 07•+,RN[)o'.O) l D=D-E+G J=RH[:": 11)-1 

(12(16(1 B=INTo'.B+(':,-f")*L•/6(1(1+1) : IFB<=:,OT 210(1 

02081:1 B=50 

13210(1 IFB(l)T. B=0 



Space Taxi 

00002 U=l F Z=OT047 ·,. • Z, U) ti Z F· A 24., " F:H[>!HTION DOME " 

0(11311 T=70 '·/=O H=O C.=22 C•=:::o I =1'1 )=22 K= :::2 GOS :w Ci 120 

£n30S:(1 S. < I ., J) 

(1(11,14(1 F:=RNDC?> · ONRG 51J. 7(1, 80 

0€105(1 !F;<=H, 4(1 

(1(1(16(1 1=1+1 :<=1 'r'=(1 C; Hl(1 

€1(1070 1=1+1 J=J+1 ,X=O Y=O G 100 

(11)(1:::0 I F','=1G. 41,1 

0009(1 J=J+1 ','=1 :,<=(1 

00100 I FJ=KRET. 

00110 IFl=127RET. 

0(1111 G. 3(1 

00120 F. Z=I+1T029 S (Z,J) N. Z K=RND(11)+4 

(10B13 J = 31 · I= ?.0 GOS. 14(1 · G. 23:0 

(10140 S (I, J) 

00150 R=RNDC) : ONRG. 16(1, 18(1, 190 

00160 IFX=1G. 150 

0017€1 I= I +1 X=1: ~•=0: G. 210 

00180 I=I+1 J=J-1:X=0:Y=0:G. 210 

00190 IFY=1G. 150 

00200 J=J-1:Y=1:X=0 

00210 IFJ=KRET. 

00220 IFI=127RET. 

00221 G. 140 

00230 K=32:GOS. 30 A=I+5:B=31 

00240 F. Z=I+1TOI+20:IFZ=127G. 310 

00250 S. (Z, J) :N. Z 

00260 J=J-1:1=1+21 K=RND<12)+3:GOS. 140 

00270 IFI=127G. 310 

00280 K=31:GOS. 30:IFI=127G. 310 

00290 F. Z=I+1TOI+17:IFZ=127G. 310 

00300 S. (Z, J) :N. Z 

00310 S. <C, D): S. (C-L D+1): S. (C+1, D+1): S. (A-L 8): S. <A-2, B) 

00311 S. (A-2, B-1): S. <A+7, B) 

00320 S. ( A+8, B) : S. ( A+8, B-1) : GOS. 321 : G. 350 

00321 P.A. 708; "HORZ. SPEED ="; H 

00330 P.A. 772; "OX~'/SE_C ="; T 



00681 P. AT973; "** r'OU ARE NOW FREE FALLING **"; : FORX=1T01000: N. X 

00685 GOSUB321 

00690 IFF<=0G. 370 

00691 G. 350 

00700 CLS: P. A. 474; "CRASH. . " -F Z=1T01000: N. Z 

00710 P. A. 523:., "BOOM'' YOU JUST HIT THE SURFACE OF ZARBOF'." 

00711 P. "r'OUR FINAL VERTICAL \/ELOCIW WAS"; 

00712 IF\/(=0P. V 

00713: IF\/)0P 0-V 

00714 P "'r'OUF'. HORIZONTAL VELOCIW WAS.,, H 

0f1720 I. "> PLAr' AGAIN (~'/t-0 "; Z: !FZ=~'F=80 CLS G. 2 

0073:0 IFZG·NG. 720 

0073:1 E. 

0f1780 P "','OU HAVE LEFT THE SAFET',' OF THE F'.R[)!T!ON DOME" 

0(1790 P "At~D HAVE DIE[) OF RA[•!TIOt, F·OISONING" G. 720 

00800 ~ (C,Dl ~ CC-1,D+ll S (C+1,D+1) IFH()0G 700 

00810 F. Z=ATOA+5 · IF(C-l=ZH(C+l=ZlG 860 

00811 F·. A. 7(14 

00820 N. Z. P. "r'OU HAVE LAN[-E[)" 

(10850 ,F M=1T020(10 N. M G. 49(1 

00860 RESTOF:E 

00880 ()ATA-1., -2., 7., -2., ~1., - :~ .• 6 .. - ::, 1., -4., 5 .. -4., 2., -5, :: .. -5., 4., -5 

008913 F. Z=1 T09 . READU .. l~ S <A+U, B+l.Ji 

00900 T=T-. 8 IFT<=OG 950 

00901 './=0 GOS. :,21 

00910 F. E=1T0250 NE NZ 

00920 CLS F· "CONGRATULAT I Ot-6 ' ' ','OU HA'·/E MA[)E IT TO THE BASE" C; 720 

13095(1 F·. "UNFOF.:TUt-,ATL',' ','OUR O'.<",'GEt~ ~:UPF'L',' F.:AN OUT BEFORE" 

0(1%(1 F· "THE LAN[•ING F'OF·T COUUi E:E F'F'.ESSUF:IZE[) ','OU" 

0097(1 P "SUFFOCATED. " G. 72(1 

0098(1 RET. 

0100(1 F'. A. 965 , ">H ','OU (,ow T HAVE THAT MUCH FUEL **' "., 

01010 F X=1T 1000 N X 

01(120 F' A :~65, " . " F'ET 

011(10 P. A '.~60, "*+ ','OU HA'·/E LAN[,E[o W THE l•JF:Otle, F'L.HCE ••" · 

01105 S lC,Dl S (C - 1,D+l) S •C+1,D+1• 

01110 F X=1T01500 N X 

01120 F' A 9€-(1. " FET 



0H:i50 G. 670 

03333 A=A(A(11)) B=A(A(12)) C=A(A(13)):D=A(AC14))·E=ACA(15)) F=ACAC16)) 

03334 G=ACA(17)) H=A(AC18)).I=ACA(19)) RET. 

04000 Q=(A01) )-T · IF0=-2Q=7 

04001 IFQ=-1Q=8 

040(12 I F0=0l~=9 

040(13 IFA<P)=(1A(Qi=9 Ci. 85(1(1 

04004 IFM=17M=B 

134005 IFM=19t1=17 

04006 IFM=15M=19 

04007 G. 4(1(1(1 

07001) F' T. (25·:, . "I ' M THJWiHIC;". F'. ATIJ, '"', ','=OZ=',' :x:=::: 

07001 IFA<20)=0A(20)=1 M=15 T=: G 4000 

07(111:) T=A+E:+C IFT=:,<T :::(1(1(1 

07779 T=A+D+Ci IFT=XT 8(13(1 

07780 T=A+E+I IFT=XT. 8(16(1 

07781 T=B+E+H IFT=XT 8(19(1 

137782 T=C+E+G IFT='.<T 8120 

(177:::3 T=C+F+l JFT=>T :?,15(1 

1)7784 T=()+E+F IFT=>T :,:1:::0 

077:::5 T=G+H+I IFT=XT 8210 

077:::6 IF'r'=(W=1 Z=1. G 78(1(1 

(17787 I F~'=H'=2 '.<=2 Ci 7011:1 

07788 1 F1r1=2'r'=J: ><=t: · Z=2 G. 78(1(1 

07789 I F',"<,~'=4 :,<=2 Ci. 7(110 

(1779(1 I F'1'=4 1r1=5 ~<=t: 2=3: G. ?8(1(1 

07791 I F','=5','=6 )<=2 Ci. 7(11(1 

137792 IFY=6','=7 X=8 Z=4 G. 780(1 

07793 IF','=7','=8 :~=2 Ci 7010 

07799 GOS. 1::45(1 t1=19 T=2 Ci. 400(1 

07800 GOS. 555.GOS. 3l33·G. 7010 

08000 IFA=0T. 8490 

08010 IFB=0T. 8491 

08020 G. 8492 

08030 IFA=0T. 8490 

08040 IFD=0T. 8493 



08911 X=3: 

08912 IF(A+B+C=X\+(A+D+G=X)+(A+E+I=X)+(B+E+H=X)+(C+E+G=X)T. Z=Z+2 . 

08913: IF(C+F+I=X)+(D+E+F=X)+(G+H+l=X)Z=Z+2 

08914 IFZ=1 T. 893:0 

08915 IFCCZ=2)+(Z=4))T. 893:1 

08916 IF(Z=3:)+CZ=5)T 10020 

0892(1 G. 9999 

0893:0 P. AT984, B$.; " YOU LOSE".; P. AH1, "" ., V=V+1 . IN A$ . G. 3: 

08931 P AT984, 8$., " 'r'OU WIN", P AYO., "", . U=U+1 · IN A$ • G. : 

i,19(1€1(1 I FT=i T. 70B0 

B9001 G. 98 

09999 F. Q=1T09 IF(A(Q)=0)Q=9·a 9000 

10010 N. 0 

10020 P AT984, "TIE GAME "; E:$., •P Arn .. "";• m A$ l•J=lJ+1 G. 3 

22222 END 



00:?.00 F·. 

0031€1 P " · ~:= 22 ','= 22 DF:mcc 0 

(10:?.20 p 

#### F:ESEF:'./E SET 

0(C~O F· "THE :,: AND 'r' AU,JA'6 ::,HOW THE F'O::, !TI Otl OF THE LAST SET OF: RESET. 

(1034(1 F' "[lF.:TIL MEAN:"- THE CUF:F'EIIT D JPECT JOtl AS C•ESCR JE:ff, LATH' EACH 

003U1 F· "TIME ','OU SET., THE F:ESE'./E JS FH:<l_l(E[! E:',' OtlE 

(10370 F· "EACH TIME ','OU F:ESET, RE::,EF''./E 1::: F:AJSE[> E:',' ONE SET F·EFEF:S TO 

00372 F' 

00374 GOS. 80(1 

O(C76 CLS 

(1(C1::(1 P "~JHETHER ','OU ~JILL 8E SETTING OR RESETTING ON THE t·IE:<T MOVE. 

(104(1(1 P "THE PUESTION t1ARK JS ASKING ~JHICH DIF:ECTION 'r'OUF: t~E~:T MOVE l~ILL 

0(1410 P. "BE. ','OU IHLL NOTICE THAT THIS LINE OF DATA TAKES THE TOP LINE 

0042(1 P "OF THE SCREEN NO GRAPHICS CAN BE [>RAWN HERE 

004:?.(1 P 

00432 GOS. 8H0 

(104:?.4 CLS 

00440 P. "TH IS IS THE CODE FOR [:, I REC TI ON. BEST WR !TE IT [)OWN' 

00450 P "1 UP AND RIGHT 

00460 P "2 RIGHT 

(10470 P. "3 DOWN AND RIGHT 

00480 P. "4 DOWN 

00490 P. "5 [>OWN AND LEFT 

00500 P "6 LEFT 

00510 P "7 UP AND LEFT 

00520 P "8 UP 

£1053(1 P "9 CHANGES SET TO RESET OR \/ICE 1/H:SA 

00540 P. "0 TAKES THE LAST DIRECTION (1-8) AND REPEATS IT TEN TIMES 

00550 P "100 SAVES THE ARTWORK. [>OWT DO THIS UNTIL 

00551 P " 'r'OU'RE ALL FINISHED'' 

00553 P 

00554 GOS. 800 

00556 CLS 

00560 P. "WHEN YOU HAVE COMPLETED ,'OUF: ARTWOF:K ENTER 100. 

00570 P. "THE COMPUTER WILL THEN SAY : 

00580 P 

(10590 P " THE COMPUTER IS Nm~ SAVING ,'OUR ARTWORK' IT TAKES A WHILE. "' 

00600 P 

00610 P. "AFTER ABOUT 2 MINUTES THE COMPUTEF: WILL BEGIN SHOWING ,'OU LINES 



00148 A=B 

00150 IFA=1X=X+1. 'r'=~'-1 

00160 IFA=2X=X+1 

0017(1 IFA=3)<=X+1 . 'r'=~"+1 

00180 IFA=4Y=Y+1 

00190 I FA=5X=X-1 . ~•=W1 

002£10 IFA=6X='.<-1 

0021(1 IFA=7'.<=X-1 'r'=~'-1 

€10220 IFA=8','=','-1 

00222 X=AE:S ( ~<) 'r'=ABS ( '11 ) 

'3(1223: IF(S=[1)*(F'. (;:.;_, 1, 1 ) )K=K+1 

(10224 IFS<>0K=K-1 !FF'. o:x. ',')K=K+1 

(1023{1 I FS=OF'. ( ;:-:;., '11 ) 

00~~~ IFB>0G 240 

(1(12:C:6 1-1 I 

00240 IF5=05 fX,Y) 

0(1:,(1(1 F.·=F:+1 

00~10 5=~' 2-INT•~2• 

00520 IFS<>0K=K - 1 

(H)525 I F::,=(W =K+1 

00:,:C:0 F'E T 

006(10 REM LOGGrnG 

00602 F' ATIJ, "THE CMF'TF.'. 15 IKIW '.:,A',/Ir,G ','OUF: AF'.T l•JOF:L' IT TAKES A l•JHILE " 

(10605 f'.=0 

006113 F .J<<T047 

0062(1 F I =010127 

00630 !FF' (l , J)=1AO:K)=(l*100+.J) K=K+1 

()064(1 ,~ 

0(1650 1-1 J 

(H3690 K=O 

00691 M=Fl(0)/100-INTO:Fl(0l/100l 

0(1695 CLS 

(H3699 F'. "THIS 15 ','OUF.'. FIF.'.ST LINE OF :,,; [)AJA " 

01)700 F.'.Er-1 LOOKING 

€10710 F. 1=01010000 

0(1711 I FK>9K=1 

00713 l=(Fl(l)/100-INT(Fl(l)/100))-M 



(10045 IFJ=0G. 1£1(1 

00050 tf I 

(1(11(1(1 CLS 

01:111(1 F. I=f1T01(1(11,1f1 

00120 :~= INT (A ( I ) /1£10) 

1,1(1E:(1 ~•=A ( I )- INT (A (I) /10(1) *10(1 

0(114£1 !FA( L>=(1G 2(1(1 

00160 N. 

(10200 G. 2(1(1 



03510 ONCACN)+3)GOS 3600,3700,3800, 3900,4000 

1:C':,20 PET 

tC:6(1(1 FORZ=2TOE ~. ,:J+Z,J+:, ::, '.l+Z .. T+.l rl F'ET 

03700 FORZ=2 T01 J ~, I+Z,J+4) NZ RET 

CC:::00 FOVi'~21C1:t:: F· ,J+Z JtJ, F: ,J+Z.,.1+4, r~- F:ET 

03900 GOS. 3700 FORZ=4T013S - R tJ+~J+4' N, RET. 

04(1(1(1 GO::, ::600 FORZ=4T014S - F: <I+Z, J+ J:, F:. <I+Z, J+4) N Z F:ET. 

050(10 Q=-99 FORI=1T064 IF(A(l)(1)+tA(!l)2)T 5050 

05010 IFA(ll=2T FORB=-9T0-7S ~ GOS 5100 NB 

135020 F E:=7T09S 2 GOS. :,10C1 N B 

(15(150 NI IFQ=-99T 99(1(1 

05070 A(Tl=A(Fl A(F)=O N=F GOS. 3500 N=T GOS. 3500 

05(175 IFT)56T ACTl=2 N=T GOS 3500 

0508(1 IF(ABStF-Tl'. ) 14l+tABS(F-T)()18lT RET. 

(15085 N=(T+F)/2 A(Nl=0 GOS. 35(1(1 IFA(T)=1T 5(190 

05087 F B=-9T0-7S 2 C=T+B IF(C(O)+(C+8(0)T 5089 

0:,0:::8 IF(A(ChO)+(A(C+8)=1,0T F=T T=C+B G. 5t171) 

(15(1::':9 If E: 

05090 FORB=7T09S 2 C=T+B · JF(C~64)+(C+8)64lT. 5098 

05091 IFCACCl(Ol+tA(C+B)=O)T. F=T :T=C+B ~ 507(1 

05098 N B F:ET 

05100 R=-99 J=I+B K=O IF(J(0)+(J)64)T. 5200 

05105 IFAtJ)=OT. R=O L=J 

05108 IF(J+8(0l+CJ+E064)T. 5115 

05110 IF(A(J+8)=0)+CA(Jl((11T R=5 K=1 L=J+B 

05115 IFF:=-99T. 5200 

1:15116 !FA( I )=21. F:=F:-1 G. 5126 

0512(1 IF I (9T R=F:-2 

05123 IFL)47T F:=R+3 

05125 IFL>56T R=F:+3 

05126 FOF:A=7T09S. 2 GOS. 525(1. N. A 

05190 C=RND(Ol.IFCR)Q)+((R=Q)+CC> 4))T. Q=R.F=I :T=L 

05200 F:ET. 

0525(1 G= I +A H= I -A IF ( G)64) + C G+A)64 )T 5270 

05255 IF <CACG)=1 )+(A(G)=2) )+CA( G+A) (I) )T F:=F.:-8 

05256 IFWOT. 530(1 

05260 IF(ACGl(0)+CA(H)=0)T. R=R+4 

05265 IF(ACH)=-2)+CA(G)=0)~ R=R+4 







8749064 

All Radio Shack computer programs are distributed on an "AS IS" basis 
without warranty. 

Radio Shack shall have no liability or responsibility to customer or any 
other person or entity with respect to any liability, loss or damage 
caused or alleged to be caused directly or indirectly by computer equip­
ment or programs sold by Radio Shack, including but not limited to 
any interruption of service, loss of business or anticipatory profits or 
consequential damages resu I ting from the use or operation of such com­
puter programs. 

NOTE: Good data processing procedure dictates that the user test the 
program, run and test sample sets of data, and run the system 
in parallel with the system previously in use for a period of 
time adequate to insure that results of operation of the com­
puter or program are satisfactory. 

Refer to User's Manual for warranties. Failure to adhere to procedures 
set forth in User's Manual may result in the loss of warranties. 

RADIO SHACI< g A DIVISION OF TANDY CORPORATION 

U.S.A.: FORT WORTH, TEXAS 76102 
CANADA: BARRIE, ONTARIO L4M 4W5 

AUSTRALIA 

280 316 VICTORIA ROA D 
RYOALMERE NSW 2116 

TANDY CORPORATION 

BELGIUM 

PARC IND USTR IE L DE NAN INNE 
5140 NANINNE 

U K 

BI LSTO N ROAD WED NE SBURY 
WEST MI DLANDS WS1 0 7JN 

PRINTED IN U.S.A. 



·' 

ADDENDUMS TO THE LEVEL I GAMES PACK 

THE FOLLOWING PAGES LIST THE c•~ANGES REQUIRED AFTER CONVERSION 
FROM LEVEL I TO LEVEL II USING THE PROGRAM CONVERSION TAPE 

l··lrtMUf;.:flE: I IS NOT LISTED 5 I t·4CE l T 
REQUIRES NO CHANGES AFTER CONVERSION 

TO QUICKEN THE INITIAL DRAWING OF ~CHECKERS~ 
TRY CHANGING/ADDING THE FOLLOWING LINES : 

3000 CLS : FOR X=0T07 : FOR Y=0T07 : PRINT@((128*X)+(8*Y))~ 

3005 A$=STRING$(8,191) 
3010 FOR X=0T06 STEP2 : FOR Y•0T06 STEP2 : Z=((128*X)+(8*Y)) 

PF'. I t·f'fl]IZ., ::::=-t<=·=:+'·r'+1,; : PF:: I NTCI\IZ., A:$; : p1:;~ I t·JTt}l•~:::+,s;4,, f:1;;~~.; : PF~: I t·f'l"l]IZ+ 
::L.:J:6., F1~1,:,; IF Z<>::::16 Pl:;;: I NTt]l2+2~:~0., fl::t,:,. : NE:=-=:T • ... •., ::-:: 

3012 FOR X=112T0127 : FOR Y=45T047 : SET(X,Y) : NEXT Y,X 
J:~J:V5 r:-1:;,: I rn 1]162., " fl .i : r;,:ETUl~:'.N 

I ) ~ 
'-



,:::I FOi~,: t,t:;::;:1.. rOC4 : l..:iUSU[: J:~5~.::ii;;; : t~i::::,-::r N 1·J,,,,,::1.. : r·rs: 1 r~r@~L:~:;i;;;~ .• 11 1.,.1i:::11·-rr TO CiO 
F J.1:;;:s;r ( 111,•···r~::, 11

; 

~;: :1: !::i Fl :,t: ca:: J. r H< E 1r1 ~~: : I F fi:,1:- ::::: 11 11 T l···I Er ,I ;;;;: J: !5 

CiU'.:::, UE: ~51:)12'(:1 
II • 

·' 

::1..t:11,:~1::.1 r·i:;;: 1 r·J I c~•~L.::::.::1 .. , 11 11 
.• : r::•r;:: I 1·-rri:i~:1::::4., 11 FF:or,·1 11 

., 

~L~j1::.1:1.. i:::1:a,:,,,, 1 N1-,:.1:~ 1, .. :,~: IF i:::1::1::,,,= 11 1
' ·T , .. -,El"·J ~L121i;::1::1. 1::::1._:::c F•f;,: 1 r,IT(ti:l .. :::::c: .• r:1:,t::., 

~U)~.:.'1~2 [:~j;::s:: I 1'41<E 1 
... ':,1,: J. r:: IJ::~~::::: 11 11 TI .. IEN :1~~:1121::;;: EL::::;E pr;;: 11·n i:il•:1.::::9., B~I::., 

:1003 F$=Fl$+8$ : F=VAL(F$) : Q=:1 
:1005 IF ~F<:1)+(F>64) THEN GOSUE: 6000 : GOTO :1000 
::u211;::ic p1:;,: I NT(!il:1::::4., " To 11 

.. 

~Lt:1~j? i:::i:r::• 1 r41<E~ 1/::1:: : :i: F i:::1::1:~=,=" 11 THEN ~L0~)·;::- ELSE p1:;,: 11·-.rri:~•:1.c:::J~ r1::~:., 
:U::it:i::::: l):,l,:ca:: .I. Nl<E 1

,
1 :,f : J: F [:::,~~;:::: 11 11 "Tl··IEN :1.(K'I::;: EL..s;E Pi:;;:): r~T(~•~L::::::,1., [:;$:_; 

1(~~21:) 1· ~:t,:::::A::1,: ·l··E:::t,: : T:c.::',,•1AL < T:$:) IF ( .. ,. :::=~21) f=ll'·JC, C (:!:::=~.:.'I) 'T"l· .. IEN F:E·rui:;;:r-~ 
10:1(:1 l F ( I <.1) +· ( T )(:4) THEN Gos:uB 61;;:l~.;:l('I : CiOTO :1(~1('16 
1200 lF (ABSCT-F) =7> OR (ABS(l"-F) =9) THEN RETURN 
1260 FOR E:=7 TO 9 STEP2 : G=T+E: : IF CG>64) OR (G+B>64) THEN :1266 
1265 IF C(ACG)=:1) OR (A(G)=2)) AND (Fl(G+B)=0) THEN F=T : Q=0 : 

UO I O :l.('106 
1.;.;::?t:1 FOF: E:=:::••9TO··i' :::;l"E::F·2: Ci==T+B: IF (G(I;~,::, OF! (G .. 1-1:::<:~.::1;:, THEN :1~~~::;i•~J 
~l..~:::::11J J. F i:. ( Fl (Ci::, :=-:1..) (.II~,: ( f1 ( G > :::2) ) At·,ID ( A ( G +·I:::) =:=('I::, "Tl·--IEN F::mT : i:;:,,:::,~~; : 

uoru :u:.106 
:1~5~.:.11::~ 1,:!===1::.1 : IF ( fl ( F') > ·· :1) ()I:;;: ( fl ( T) <>(:1.:1 TT·IEN F:E·r1..11:;i:N 
1.!::i(;;[.'I .tF 1:.F·, ... T:::E:) ()f:,: ( <F·-.. ·r==2:+:B) fH~C, ( (fl( (F··• .. ·r::,, .. ·"2)::m1) OF: (fl( 

~F+l>~2)=2>>> THEN Q=~ 
000 IF U=:1 H=8 ELSE H=6 

2001 FOR X=UTOH STEP2 : W=:16:+:X 
;;;~~.:.'1~::1~5 FOl~i: 1·r1=UTOH ::;;TEP2 : Z=6:+:'•r' 
3~.::115 p1:;;: r rfT(ill•~:;~;:: .• "" .• : F:ETUF!N 
5000 Q=-99 : FOR I=:1T064 : IF (ACI)<:1> OR CA(I)>2) THEN 5050 
~i1~:1:::::i:::1 l F < flE::::::: ,:. F·--··T) <>14 ::1 f1N1) <t=H::::::: ( F·-··T > <>:i::::) TI-.. IEN 1::::ETUH:t~ 
5087 FOR E:=-9T0-7 STEP2 : C=T+B : IF CC<0> OR <C+B<0) THEN 5089 
5088 IF CACC)<0) AND (fl(C+8)=0) THEN F=T : T=C+B : GOTO 5070 
5090 FOR E:=7T09 STEP2 : C=T+B : IF (C>64) OR (C+8>64) THEN 5098 
5091 IF <A(C)<0> AND (ACC+B)=0) THEN F=T : T=C+B : GOTO 5070 
5:100 R=-99 : J=I+E: : K=0 : IF (J<0) OR (J>64) THEN 5200 
5108 IF CJ+E:<0> OR (J+B>64) THEN 5:115 
5110 IF CA(J+8)=0) AND (A(J)<:0) THEN R=5 : K=1 : L=J+B 
5190 C=RND(0) IF <R>Q> OR ((R=Q) AND <C>. 4)) THEN Q=R F=I T=L 
5250 G=I+A : H=I-A : IF (G>64) OR (G+A>64> THEN 5270 
5255 lF CCA(Ci)=:1) OR CA(G>=2>> AND (A(G+A><0) THEN R=R-8 
5260 lF (A(G)<0> ANO CA<H>=0) THEN R=R+4 
!'.::i~;~6!::i IF" (f=l(H>=-·2> AtH> ,::i:;:1(G)=C1) THEt·J f;;::::::1:;,:-+·4 
5270 IF <H<0> OR (H-A<0) THEN 5300 
5280 IF CCA(H)=1) OR (A(H)=2)) AND (ACH-A)=-2> THEN R•R-8 
5305 IF (A(G)<0) AND ((ACH)=0)+(I=H)) THEN R=R-:10 : GOTO 5307 
!'S::i:1;;:i,s; IF < i:::1 ( 1"·1 > ==--·2) f=lt~D ( ( fi (Ci>==(~> 01:;;: ( I =Ci::, ::, Tl .. -11::::N F:m=f,: ... <Ll2• 
5310 IF CA(G)<0) ANO CACG+A)=0) THEN R=R+5+K*10 
5330 lF CCA(G)=:1> OR (Fl(G>=2>> AND (fl(G+A)<0) THEN R=R+4 5=5+4 

\~~ lF <H<0) OR (H-A<0) THEN 5350 
\0 IF (CA(H)::::::1) OR (ACH>=2)) AND <A<H-A>=-2) THEN R=R+4 S=S+4 

·· .::i ~21 I F F,: > :::: 1::,: ::::: :::; 
0200 FOR N=9T0:15 STEP2 : GOSUB 3500 : NEXT N F Cl i::;: :,-,: m:: ~::,'ITO :1 

F cir;,: '..-'==:12T014 : SET ( :,-,: .. 1T1
) : NE~·rT 1

..-' : NE::-::T::,:: F.:ETUf;i:N 



:::1::2:1 
33:(.'t 
J:4121 
J:4:1 
:r.~5~) 
360 
6('11~; 

FOR THIS PROGRAM CHANGE THE SEMICOLONS(;) TO COMMAS(,) 
AF TEF~ flLL Pf,: I NT(iit s;T1::1TEMEr~rs: IN THE FOLLO~-~ I r-~G LI t~Es:: : 

(ADD SEMICOLONS TO THE END 
OF LI t-~E~::- J:4(1 .~:, ]:4:1. ) 

62~ (ADD COMMA TO END OF LINE) 

"?'00 
7:1.(:1 
8:1:i <ADD COMMA TO END OF LINE) 
:11212('1 
~L. :t 121 1~:• 
~L:12~:~ 

ADD THE FOLLOWING CHANGES : 

4:10 IF H<0 THEN C=C-:i : M=M-:i : GOTO 43121 
30 IF V<0 THEN D=D-:1 : N=N-:1 : GOTO 44:1 

t50 IF (C=:i) OR (C=:126) OR (0=0) CLS : GOT0780 
455 IF (0=3121) AND ((C<A) OR (C>A+7)) AND <V<=2) THEN V=0 

GOSUB :i:100 : GOTO 320 
460 IF <POINT(C-2,D+:i)) OR (POINT(C+2,D+:i)) GOT0700 
470 IF (0=30) AND (V<=2) V=0 : GOTO 800 
480 IF (0=3:i) OR (0=30) GOTO 700 
?:;;;:~J~ I NF'U"f' "> 1:::•LA 1-r1 rl(:il4 IN < 1·r'.····r-c,, 11 

.I 2:$: IF ~:;'.$::::: 111-r' 11 F=l:::10 

?J:t,j IF 2:1:: <> II N 11 GOTO ·;::-;;;;:~J 
8:10 FOR Z=A TO A+5 : IF (C-:i=Z) OR (C+:i=Z) GOTO 860 

* * * * * STAR PILOT ADDENDUM * * * * * 

ADD OR CHflNGE THE FOLLOWING LINES 

9 :::1 L:o I r··t Fl ( ~::; 1;;; ) 
:t (~ t;:1 (:t Ci O ,:::;I.IC: ··::· ,::1 ,:::19 

":,:•=~•::;19 0::1:-= I Nl<E 1...':t : IF [:1::lr.•C::- 11 11 CLS : ELSE GOTO 41;;:1~.:,11;;,1 
':~:1:::1~;~~21 11',IF'UT 11 

(:10 1·r10U ~·-IArrr rlN(JTHEI~,: :::: I MULflT I ON 11 
·' r::::~:: 

;: ~213·. 0 I F F;: :,~: < > II N II I] 0 T O :1 (;11;?,1 

85:10 (CHflNGE ~ooTO 80:15' TO 'GOTO a020~, 

DELETE LINE 80:15 



F'AGE 4 

:1: :1-: :-1•: :1-: :,t-: TIC TFIC TOE :•I•: :-1: :1•: :+: :•I·: 

~---------,&l!lli!ialliiiiiiii:l&iiiiiiii!iiiii1iiiiiiiiiiiliiiiii:iliiriiii...,..·s· ·-!ii!~~--·· 

CL.:::: : i::-r;,: 1 r~·1·a:gi47::1. .. 11 ENTEF-: FI 1~;:s:T N1:=1ME 11 
_; I t,tF'UT c:::1,= : .J:::::(:1 : u,:::,0 : 1

•,•
1:::::~J 

9::::: PR 1 N r TF1E: i:: 2;;:.:: > .• E::::t:=_; 11 s:ELEC::T ~~:c!ui=::11:;.:E 11 
_; : PF: 1 N·ri:~••~:• .. 11 ? 11 

_; 

:t('1(~ C!$=It·~l<E 1..-':$= : 1i::~ G!~t,:::::: 1111 ·1·t··IEt~ :l.~j(1 ELSE G!= 1
•,•

1flL..(G!~t,:) : Pf;,:INT1]13:, G!.i 
P 1:;,: 1 r .rri.r:• (1 ., 11 11 

.• 

~LIJ~L .I. F ( G.!:>t.1) 1==1t-~D ( O·CUJ) THE:t~ ::l .. t:(:i: 
:1-121 ::: F' i:;;: .i:r.1 T II H ~ '•,•1 i=::11... IC> F' u:::1 'l-1 

" : For,;: T ::::, :1. r o :u::1 ~::, 1;;.1 NE:,-,:T T p1:;,: I t,lTl]t(:I., II II.• 

:1:::~:::1 r::1 i:. 1:;,: ::, :::::.:.1, : F'F: I t,l"I" 11 11 .i 

bbb FOR R=:1.T09 : IF (A(R)=M) OR (A(R)=S) Q=R 
680 IF A(R)•S THEN :1.99 
4000 Q=(A(M))-T : IF Q=-2 Q=7 
400:1. IF Q=-:1. Q=8 
4(1~);;;:: IF G!==(1 G!=9 
4003 IF A(Q)=0 A(Q)=9 GOTO 8500 
4004 IF M=:1.7 M=:1.3 
4005 IF M=:1.9 M=:1.7 
4006 IF M=:1.5 M=:1.9 
7787 IF Y=:1. Y=2 X=2 GOT070:1.0 
?788 IF Y=2 Y=3 X=8 Z=2 : GOTO 7800 
~::•·;::-09 IF '..'=m3 11'=4 :,,:=2 Ci()TC) ·;::-tj~U::1 
??90 IF Y=4 Y=5 X=8 Z=3 : GOT07800 
779:1. lF Y=5 Y=6 X=2 GOT'O 70:1.0 
/

1 ?·~;;t~! l r:· 1
·.-

1 :::;:t_:; '1·1 =-.:'?' ~::::::::::;: ~::::.-::4. : C:i()'f Ct ·;::-:=::~.:.~,a 
7 793 IF Y=7 Y=8 X=2 GOTO 70:1.0 
.900 IF (A48+C=X) OR (A+D+G=X) OR (A+E+I=X) OR (B+E+H=X) THENZ=:1. 

89:1.0 IF (C~F+I=X) OR (D+E+F=X) OR (G+H+I=X> THEN Z=:1. 
89:1.2 IF (A+B+C=X) OR (A+D+G=)<) OR (A+E+I=X) OR (8+E+H=X> OR 

(C+E+G=X) THEN Z=Z+2 
89:1.3 IF (C4F+I=X) OR (D+E+F=X) OR (G+H+I=)() THEN Z=Z+2 
C:~::'~L.!:;i IF ( ,:: Z:::•~~~) Of;,: ( ;~~=4) ) Tl··IE:1'·~ :::::9J:~L 
89~6 IF (Z=3) OR (2=5) THEN :1.0020 

:+: :+: :+: :+: , ... , DRAW I, DRAW II, DRAW III 

----- NO CHANGES 

DRAW II ------ ADD : 
4 DIM A( MEM/4-<L > 
70 A=0 : K=INT(MEM/4-:1.) 
80 I=0TO(MEM/4-:1.) : A(I)=0 : NEXT I 
~~~ IF (5=0) AND (F'OINT(X,Y>> K=K+:1. 
630 IF POINT (I,J) A(K)=(I*:l.00+J) 

DRAW III------ ADD : 
1. DIM 1:::1 ( J:(1(11;:_1) 

,,i.: , ... , , .•. , ,.,., ,.,., 



1tad1e lhaew 
Games Pack I 
For Level-I TRS-80® Systems 
With 4K RAM or More 

On3 
Cassettes 

Space Taxi Random Tic-Tac-Toe 

Your chance to rule 
a nation ! Start with 
a given amount of 
assets and manage 
your "kingdom " by 
planting the right 
amount of grain, 
buying and selling 
"acres" of land. Your 
success depends on 
care ful planning! 

You're the pilot of a 
rocket craft. Your 

task: Fly over a 
mountain, but stay 

under a radiation 
·- -shi~ld, and land 

safely-u;· ~ m..i• 
spaceport. 

ch ge for space 
pilots of all ages! 

I•••••••••••••••••••••••••• •••• • •••• 
: Checkers 
= • • • • • • • • • 
= • 

Here's another updated 
version of an old I 

+=.+~::+~ =-lr-"t=+""""t favorite! Test your 
checker-playing 
skill in a match 

-i--f--.:.<f---+--=+- +-~-+-""""lwith your TRS-80 m 
computer. m 

Exciting fun g 
for everyone! Ill 

• J...--JK1-:::::::::~~~~ :4--4-=+--~ m 
I ••• I . - ...•.. 
= -- •••••• I ------------

A challenging twist 
on an old game. 
After each move, 
the Xs and Os are 
shiftid to the mm 
numbered squares 
on the boaid. To 

- ~ plan el! s 
"the 

oomp_B:terl 

~ 
. . ., ._ 

.. .. ... 
~ ' "' .. .,. 

• -' .. .. 
I .. , , ... ... 

II. ... , ... 
, ..... 

""' ' 
' 

,_ ~-

Star Pilot 
Pilot a fighter plane 
and shoot down 
en~my aircraft 
before they take 
evasive action. This 
fast -pace d game 
allows you to fire at 
a constantly moving 
target. Hours of 
entertainment! • 

-

Cat. No. 26-1805 

• 

)f • 4 

1 
e • 

I y 

),t 
I ' T 

,Q 
~a o.· 4 ta @' ,4 

I 1 

• ' a 9 

s I 

~ 
Draw • • This fascinating 

game allows you 
to "draw" graphic 

~ designs on TRS-80's - video monitor, store 
them and recall 

them, if desired. 
Useful and 

entertaining! 

1, 



* * * * * * * * * * * * * * * * * * 

ADDENDUMS TO THE LEVEL I GAMES PACK 

* * * * * * * * * * * * * * * * * * 

THE FOLLOWING PAGES LIST THE CHANGES REQUIRED AFTER CONVERSION 
FROM LEVEL I TO LEVEL II USING THE PROGRAM CONVERSION TAPE 

HAMURABI IS NOT LISTED SINCE IT 
F::EG!U I F.:ES tJO CH1=1r·JGES flFTEF-: CON'·.-'Er-:,:s I Ot·J 

TO QUICKEN THE INITIAL DRAWING OF ~CHECKERS~ 
TRY CHANGING~ADDING THE FOLLOWING LINES : 

~00 GOSUB 3000 : GOSUB 2500 
3000 CLS : FOR X=0TO7 : FOR Y=0TO7 : PRINT@((128*X)+(8*Y)), 

3005 AS=STRING$(8,191) 
3010 FOR X=0TO6 STEP2 : FOR Y=0TO6 STEP2 : Z=((128*X)+(8*Y)) 

PR I NTIEZ., ::;:,1-,::-~+'T'+1.; : PF-: I NT(ll!Z., t1$; : PR I NTl]IZ+64., fl::t-_; : PR I NTl]tZ+ 
1J:6., fl:t:.; : IF z<:::,-::::16 PR I NT@Z+2(1i:::1., A$.; : t·~E::-,:T 1T', :,.,: 

3012 FOR X=112TO127 : FOR Y=45TO47 : SET(X,Y) : NEXT Y,X 
J:~:::11~:i PF:: I NT(!lt62, 11 11 

_; : RETURN 



PAGE 2 

* * * * * ADDENDUM TO CHECKERS * * * * * 

230 FOR N=1.T064 : G05UB 3500 : NEXT N 
FI F.:5T ( 1

,·• •• •··t·J) II .l 
N=1. PF~ I NT@~L92.• 11 ~•JAt·~T TO GO 

;;;:J:~5 A$= I t·H:::E 1
..-

1 ::I:~ : IF Fi$= 11 11 THEN 2J:5 
24(.1 PF,: I rrn:E11.:::r2 .. 11 II • .• : G05UB 612101;:.1.l 

oo::::uB !::;121~:::1c1 
1.l'l(.1121 p1:;;: l t·JT 1£11.E:4.• 11 11

; 

1c101. Fl$= I r·JKE•,··$ IF F1::1:~= 11 
" 

1.('lt:J2 B::t= I t·JKE• ... 1 ::1:~ IF 8$= 11 11 

PF.: I rrr1£1:1B4 .. 11 FROM" .i 
THEN :1.00:i ELSE PRINT@1.8B~A$_; 
THEN :1.002 ELSE PRINT@:1.89~8$_; 

:i003 F$=A$+8$ : F=VAL(F$) : Q=:i 
1.005 IF (F<1.)+(F>64) THEN G05UB 6000 : GOTO 1.000 
:1(1€1f.:; PF~ I NTl]t1.::::4~ II TO II_; 

:1.('lt:J7 A:$:= I NKE 1 
... 

1$ : IF fi$=" 11 THEt·J 1.~::H:.1-;:~ ELSE Pf.:: I NTl]t1.E::::: .. A~l:-.l 
j_01;;.'l8 8::t= I Nl<E'..-'$ : IF 8::t= II II THEt·J :1.('112IE: ELSE p1:;;: I NTl]•:1.89 .. B::t,:.; 
1.009 T$=A$+B$ : T=VAL(T$) IF (T=0) AND (Q=0) THEN RETURN 
:1.0:10 IF <T<:1.)+(T>64) THEN GOSUB 6000 : GOTO :1.006 
:1.200 IF (ABS<T-F) =7) OR (A85(T-F) =9) THEN RETURN 
:1.260 FOR 8=7 TO 9 STEP2 : G=T+B : IF CG>64) OR (G+B>64) THEN :1.266 
:1.265 IF ((A(G)=:1.) OR (A(G)=2)) AND (A(G+B)=0) THEN F=T : Q=0 

GOTO :1.(11216 
1.270 FOR 8=-9T0-7 STEP2: G=T+B : IF (G<0) OR (G+B<0) THEN :1.290 

IF ((A(G)=:i) OR (A(G)=2)) AND (A(G+8)=0) 
GOTO :1.1;;:1(16 

THEN F=T : C:!=t:J : 

:1.!::;t:.:.'ti:J 
·1 ':;6(1 

Q=0 : IF (A(F)>-:1.> OR (A(T)<>0) THEN RETURN 
IF (F-T=B) OR ((F-T=2*8) fiND ((A((F+T)/2)=1.) 
(F+T)/2)=2))) THEN Q=:1. 

2000 IF U=:1. H=B ELSE H=6 
200:1. FOR X=UTOH STEP2: W=:1.6*X 
2005 FOR Y=UTOH STEP2: Z=6*Y 
3(1:1.5 PF.: 1 rrr1]162 .. 11 11 

.i : F,:ETUPN 
5000 Q=-99 : FOR I=:1.T064 : IF (A(I)<:1.) OR (A(I)>2) THEN 5050 
5080 IF (ABS(F-T)<>:1.4) AND (ABS(F-T)<>:1.8) THEN RETURN 
5087 FOR 8=-9T0-7 5TEP2: C=T+B IF (C<0) OR (C+B<0) THEN 5089 
50E:8 IF (A(C)<0) AND (A(C+8)=0) THEN F=T : T=C+B: GOTO 5070 
5090 FOR B=7T09 STEP2 : C=T+B : IF (C>64) OR (C+B>64) THEN 5098 
509:1. IF (A(C)<0) AND (A(C+8)=0) THEN F=T : T=C+B: GOTO 5070 
51.00 R=-99 : J=I+B: K=0 : IF (J<0) OR <J>64) THEN 5200 
51.08 IF (J+B<0) OR (J+8>64) THEN 5:1.:1.5 
51.:10 IF (A(J+8)=0) AND (A(J)<0) THEN R=5 : K=:1. : L=J+B 
5:1.90 C=RND(0) : IF <R>Q) OR ((R=Q) AND (C>. 4)) THEN Q=R F=I T=L 
5250 G=I+A : H=I-A IF (G>64) OR (G+A>64) THEN 5270 
5255 IF ((A(G)=:1.) OR (A(G)=2)) AND (A(G+A)<0) THEN R=R-8 
5260 IF (A(G)<0) AND (A(H)=0) THEN R=R+4 
5265 IF (A(H)=-2) AND (A(G)=0) THEN R=R+4 
5270 IF (H<0) OR (H-A<0) THEN 5300 
52E:0 IF ((A(H)=:1.) OR CA(H)=2)) AND (ACH-A)=-2) THEN R=R-8 
5305 IF (A(G)<0) AND ((A(H)=0)+(I=H)) THEN R=R-:1.0 : GOTO 5307 
5306 IF (A(H)=-2) AND ((A(G)=0) OR CI=G)) THEN R=R-1.0 
531.0 IF (A(G)<0) AND (A(G+A)=0) THEN R=R+5+K*:1.0 
5330 IF ((A(G)=1.) OR (A(G)=2)) AND (A(G+A)<0) THEN R=R+4 : 5=5+4 
~335 IF <H<0) OR (H-A<0) THEN 5350 
5340 IF ((A(H)=1.) OR (A(H)=2)) AND (A(H-A)=-2) THEN R=R+4 5=5+4 
535(1 IF F,::>5 R=5 
620~3 FOR N=9T01.5 STEP2: G05UB 3500 : NEXT N 

FOR Y=1.2T01.4: 5ET<X~Y) 
FOR ~•::=0T01. 
RETUF~N 



Pf113E J: 

* * * * * SPACE TAXI ADDENDUM * * * * * 

FOR THIS PROGRAM CHANGE THE SEMICOLONS(;) TO COMMAS(,) 
AFTER ALL PRINT@ STATEMENTS IN THE FOLLOWING LINES : 

321. 
33:0 
341-:::1 
J:41. 
3~5(1 
361-3 
61211;;.1 

(ADD SEMICOLONS TO THE END 
OF LINES J:4i.;:1 .~:, :::i:41.. ) 

621. (ADD COMMA TO END OF LINE) 

·?•210 
71.(.1 
81.1. (ADD COMMA TO END OF LINE) 
1.02t.3 
1.1.t.3(1 
:1.1.2(1 

ADD THE FOLLOWING CHANGES : 

41.0 IF H<0 THEN C=C-1. : M=M-1. : GOTO 430 
•30 IF V<0 THEN D=D-1. : N=N-1. : GOTO 441. 
450 IF (C=1.) OR (C=1.26) OR (D=0) CLS : GOTO780 
455 IF (D=30) AND ((C<A) OR (C>A+7)) AND (V<=2) THEN V=0 

GOSUB 1.1.00 : GOTO 320 
460 IF <POINT(C-2,D+1.)) OR (POINT(C+2>D+1.)) GOTO700 
470 IF <D=30) AND (V<=2) V=0 : GOTO 800 
480 IF (D=31.) OR (D=J:0) GOTO 700 
·?2i.:::1 INPUT 11 

)· PLA'T' 1=1oi=i IN <'T',····r·J> 11 
_; Z$ IF Z$= 11 'T' 11 F=::::1-:::1 

CLS: GOTO 2 
73:1-3 IF Z$ <:> 11 N II ocrrc, ·;::-2(.1 
81.0 FOR Z=A TO A+5 : IF (C-1.=Z) OR (C+1.=Z) GOTO 860 

* * * * * STAR PILOT ADDENDUM * * * * * 

ADD OR CHANGE THE FOLLOWING LINES 

99 [:•IM l=t(5t.3) 
1.1-:::11-)t.3 GOSUE: 3999 
J:999 D$= I NKE'T'$ : IF D$<> II II CLS : ELSE GC)TO 4(10(1 
::=.::~J2(1 INPUT II DO 1T1OU ~·~ANT flNOTHER s I MULl=tT I ON II.• R$ 
E:(13:t.) IF R$·C> II NII GOTO 1.0(1 
851.0 (CHANGE ~GOTO 801.5~ TO ~GOTO 8020~) 

DELETE LINE 801.5 



PflGE 4 

* :-1-: * :-J•: :f: T I C T A C T O E 

2 cLs : PF.: rt·fff!it4 71., 11 Er·nEF.: FIRST NF1ME 11 
_; : r NPUT B:t- : .J=~~ u=o 

V=0 : W=0 : DIM A(51J) 
9:::: PF-: r NTTF1B r:: 22) .• E::t-.: 11 SELECT sG~uF:11:;::E ".: Pr~:: I NT1}H::1 .. 11 ? 11 

.: 

1.(H::1 G!:t-= I W<E',-'$ : IF G!:t-= 11 11 TH Er-~ :1.c10 ELSE G!=VF1L < G!:t-::, : PP I NT1]1J: .. Gu 
PF-: I r-rri:E1~3., 11 11 

.: 

1.01. IF (Q>0) flND (G!<:1121) THEN :103 
1.02 PF-: r NT II r N'·,.'AL ID PLFl'T' 11 

: FOF-: T=:1 TO::U3C1(:1 : NE:,-n T : PF.: r r-.tT(lil(~ .. 11 
".: 

GOT09:::: 
:199 Fl ( F,:) =4 : PF.: I NT 11 11 

.: 

666 FOR R=1.T09 : IF (fl(R)=M) OR (A(R)=S) G!=R 
680 IF A(R)=S THEN 1.99 

GOTO 1.C1C1C1 

40(10 
40(11. 
4(102 
4003: 
40(14 
4~:::11-35 
4~:::1c16 
,,~::-:37· 
77:::::::: 
""'='-='•-··-·· .... ·=•.:: 

7790 
779:1. 
7'7'92 
77'5(3: 
89CH3 
:=: $-t :1.1;;.1 
t:9:12 

E:S•1.J: 
:=:9:1.5 

Q=(A(M))-T : IF G!=-2 G!=7 
IF G!=-1. G!=:::: 
IF G!=C1 G!=9 
IF fl(Q)=0 A(Q)=9 : GOTO 8500 
IF M=1. 7 M=1.3: 
IF M=1.9 M=1. ?' 
IF M=1.5 M=1.9 
IF Y=1. Y=2 X=2 GOTO 701.0 
IF Y=2 Y=3 X=8 Z=2 : GOTO 7800 
IF Y=3 Y=4 X=2 GOTO 70:10 
IF Y=4 Y=5 X=8 2=3 : GOTO 7800 
IF Y=5 Y=6 X=2 GOTO 701.0 
IF Y=6 Y=7 X=8 Z=4 : GOTO 7800 
IF Y=7 Y=8 X=2 GOTO 70:10 
IF <A+B+C=X) OR (A+D+G=X) OR (A+E+I=X) 
IF (C+F+I=X) OR (D+E+F=X) OR CG+H+I=X) 
IF (A+B+C=X) OR (A+D+G=X) OR (A+E+I=X) 
(C+E+G=X) THEN 2=2+2 
IF <C+F+I=X) OR (D+E+F=X) OR (G+H+I=X) 
IF ((2=2) OR (2=4)) THEN 893:1. 

OR (8+E+H=X) THEN 2=:1 
THEt·4 2=:1. 
OF.: ( B+E+H=:;,.,:::, 01::;: 

THEN 2=2+2 

89:16 IF (2=3) OR (2=5) THEN :10020 

* :t: :t: :t: :t: DRAW I, DRAW II, DRAW III 

------ NO CHANGES 

DRAW II ------ ADD THE FOLLOWING 
4 DIM A<MEM/4-:1.) 
70 A=0 : K=INT(MEM/4-:1.) 
80 FOR I=0TO(MEM/4-1.) : A(I)=0 : NEXT I 
233 IF (5=0) AND (F'OINT(X,Y)) K=K+:1. 
630 IF F'OINT(I,J) A(K)=(I=:1.00+J) : K=K+:1. 

:t::t: IF OUT OF MEMORY ERROR OCCURS, CHANGE 
LINE 4 TO READ : 'DIM A<3000)' 

DRAW III------ ADD THE FOLLOWING : 
:1. DI t1 A ( :(m3~) ) 

:t: :-1-: :t: * * 




